Aluno(a): Professora:

2 +3= M(3) =0, 2, 3,6)9...
3 6 M(6) = 0, 2, 3,(6,12...
MMC (3,6) = 6

6+3x2 + 6+3x3 = 4+9 =13
6 6 6 6 6

Agora, efetue no caderno.

a) 2+3 = b) 5+7 = J3+2+4-=

3 4 6 4 4 12 8
d)a+2+3 = e) 6+ 4= f9+7-

9 3 1 5 15 12 24
Para subtrair fracdes com 6 -3 = M(12)=0, 2, 3, 4,6, 12,36...
denominadores diferentes, 1_2 ?

A ; M(8)=0,2, 4,8, 16,32...
\C/ioce de‘ve redu2|-' as ao mesm.o MMC (12,8) =24
enominador. Veja o exemplo:

24+12x2 = 24+8x3 =12 +9 =21

24 24 24 24 24
Efetue no caderno.
a) 4-3 = b) 10 - 4 = ) 6-3-=
5 7 12 8 8 4
d)12 -7 = e)9-5-= )13 -8 =
4 3 3 6 9 18




